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QUESTION 1

Switch 1 and Switch 2 are HP ProVision switches operating as Layer 2 switches. VLAN 33 has been defined as the
management VLAN on both switches. Based on this topology, which user devices can access Switch 1 by using SSH? 

A. only User-1, User-2, and the Server 

B. only User-1 

C. all users and servers in the topology 

D. only User-1 and User-2 

Correct Answer: B 

 

QUESTION 2

Which open-standard protocol allows a network administrator to view the running operating system version and IP
address of a neighboring device? 

A. STP 

B. LLDP 

C. ARP 

D. CDP 

Correct Answer: B 

 

QUESTION 3

What is the default state of spanning tree on HP Comware switches? 
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A. MSTP is enabled. 

B. RSTP is enabled. 

C. STP is disabled. 

D. PVST is enabled. 

Correct Answer: C 

 

QUESTION 4

A network administrator executes the following command: 

What is the state of the VLAN 1 interface? 

A. All interfaces in VLAN 1 are down. 

B. The IP address of VLAN 1 conflicts with another device in VLAN 1. 

C. The IP address for VLAN 1 is a duplicate of another VLAN interface on the switch. 

D. VLAN 1 has a single port in a down state. 

Correct Answer: D 

 

QUESTION 5

A device is connected to an HP Comware hybrid port. Which type of information from the attached device canbe used to
assign it to a VLAN? 

A. access control list 

B. IPX host address 

C. LLDP device type 

D. protocol 

Correct Answer: D 
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